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Your exam should have & pages including this one, and there are 30 questions totaling 150 points.
A question with more than one answer will be counted as wrong. A correct answer is 5 points.
a wrong answer 1s -1, and an unanswered question is 0 points. Mark your answer on the answer

sheet provided at the end of this exam please.

o Good Luck
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1. Suppese that [32.2:36.4] is a 98% z-distribution confidence interval for a population mean
based on sample of size 64. What is the margin of error?

A 4.2 B. 36.3 C. 21 D. 34.2 E. none of the above

. Refer to previcus question, what is the population standard deviation?
AL 722 B. 6.52 C. 14.44 D. 5.76 E. nonte of the above
. A variable of two populations has mean 34 and standard deviation 7 [or the first population

and a mean of 27 and standard deviation of 13 for the second population. For independent

samples of size 6 from population one and 4 from population two
1} 71 — T2 18 normally distributed

it) T — %5 has mean 7

_ i) Fy — T has st. dev. —1

nas a standard normal distribution

B. (ii} C. (i) D. {iv) E. none of the above
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10.

11.

Use the following information to answer questions 4 to 9. A survey claims that
the average cost of a hotel room in Beirut is $69.21. To test the claim, a re-
searcher selects a sample of 30 hotel rooms and finds that the average cost is
$68.43, with a sample standard deviation $3.56. The researcher believes that the
sample data will show that the average cost of a hotel room is not $69.21.

. What are the null and the alternative hypothesis to test researcher’s claim versus the hotel

claim?
1} Ho:p = $69.21 vs. H, : u < $69.21
i) fy:p=9%69.21 vs. H, : p # $69.21

iy Ho:p= %6921 vs. H, - p > $69.21
i) Hy o= $68.43 vs. H, < $68.43
AL (L) B. (ii) C. (iii) D. (iv) E. none of the above

. For v = 0.1, what is(are) the critical value(s} of the test?

A %1311 B. +1.697 C. £1.310 D. =1.699 E. none of the above

. What is the value of the test statistic?

A. 2.43 B.—-1.2 C. 6.57 D.—-3.58 E. none of the above

. What is the P-value, T, of test?

A P« Q.Dl B. 0.01 <« P < 0.025 C.P=005 D P=>01 E. none of the

above
Construct a 0% confidence interval for p.
A.[67.32;69.537  B. [67.36:69.49) C. [67.36;69.53] D. [67.32;69.49) E. none of
the above
If in fact the average cost of a hotel room in Beirut is not $69.21, then accepting Hg is:
i) type I error
ii} correct decision
iii) tvpe 11 error
iv} no decision can be made
AL B. (i) C. (1) D. {iv) E. none of the above
70.3% of females ages 20 to 24 have never been married. Five women in this age category
are randomly selected. What 1s the probability that none of them have never been married?
AC0.06 B.0.17 C. 0.002 D. 0.24 E. nene of the above
Each of three persons fire one shot on a target. Let A; denote the event that the target is
Lit by person 7.4 = 1,2.3. If we assumne that A;. 4, and 4, are mutually independent and if

P{A1) =07 P{4s) = 0.8 and P(A3) = 0.9, what is the probability that exactly one person

mnisses the target?

AL 0,395 B.G.216 C.0.056 D.0.126 E. none of the above




12. The significance level of a liypothesis test. is best defined as:
1) the probability of retaining Hy when Hy is true.
if) the probability of rejecting Hy when Hy is true.
i) the probability of retalning Hy when Hy is false.

v) the probability of rejecting Hy when Hy is false.

A i) B. ii) C. i) D. vi) E. none of the above

. Use the following information to answer questions 13 to 20. A researcher was
interested in comparing the amount of time spent watching television by women
and by men. Independent random samples of 14 women and 17 men were selected
and each person was asked how many hours he or she had watched television

during the previous week. The summary statistics are as follows.

sample 1 (women) ‘ sample 2 (men)
Z =113 | T =170
s1 =43 { &2 = 4.8

n) = 14 ng = 17

. What are the null and alternative hypotheses to test that women spend less time than men
watching television?
) Hotpy — o = 5.7 vs. Hy iy — po # 5.7
) Ho g =ppvs. Hy iy < o
W) Ho: gy = pg vs. Ho oy > g
W) Ho:py = o vs. Hy gy # o
A1) B. {ii) C. (ii1) D. (iv) E. none of the above

Assuming equal population standard deviation, what is the pooled standard deviation?

A 512 B. 3.45 C. 4.58 D. 2.90 E. none of the above

- Assuming equal population standard deviation, what is the value of the test statistic for
Hy oy = po?
A -3.45 B. -3.56 C -2.97 D. -3.4% E. none of the above

Assuming equal population standard deviation, what is the P-value, P, of the test?

A P>02 B.00l<P<00s P=001 D.P<0.005 E. noneofthe above

Assuming equal population standard deviation, find a 95% confidence interval for the differ-
ence between the two means pq — U,
A [-9.05:-2.34 B. [-9.08;-2.34] C. 1.9.05;-2.311 D. [-9.08:-2.31]  E. none of

the above




18.

19.

20.

21.

22,

23.

24,

26.

At 3% significance level.

1} Hy is accepted

i) we don’t have enough evidence against Hy
i1) we are undecided

iv) there is enough evidence to support the claim that women spend less time than men

watching television

A (D) B. (ii) C. (i) D. {iv) E. none of the above

Assuining unequal population variances, what is the degree of freedom for Hy @ g = po?

AL 30 B. 29 C. 27 D. 28 E. nore of the above
Assuming unequal population variances, what is(are) the critical value(s) for testing Hy
1 = po vs Hy -y < pp, with o = 0.017

A —2.763 B. 2.763 C. —2.467 D. 2.467 E. none of the above
In how many ways can the letters a,b, ¢, d, e, f, be arranged so that the letters ¢ and b are
adjacent?

A. 480 B. 360 C. 720 D. 240 E. none of the above
In how many ways can the letters a,b. ¢, d. e, f, be arranged so that the letters a and b are
not adjacent?

A, 360 8. 240 C. 480 D. 720 E. none of the above
The grades of a statistic class is normally distributed with mean 83 and standard deviation

15. What is the probability that the sum of the grades of 30 students of the class will exceed
25507

A. 047 B.0.53 C. 077 D. 0.23 E. none of the above

One card is randomly selected form a deck of 52 playing cards. Let
A = event a queen is selected
B = event a diamond is selected
Find P(B|A).
A 025 B. 04077 C. 0.308 D. 0.019 E. none of the ahove

. Find the probability of answering the first 3 questions on a multiple choice test correctly if

random guesses are made and each questions has 6 possible answers.
A1/729 B. 3!/6! C. 1/6! D. 1/216 E. none of the above
Machine A produces 2% defective items and machine B produces 5% defective items. A

machine is randomly selected then an itemn produced by this machine is selected, it's found

to be defective. What 1s the probability that it came from machine B?

AL 0.333 B. 0.714 C. 05 D. 0.62 E. none of the above




28.

ITI.

29.

30.

. For a two-tailed one-samiple z-test, the value obtained for the test statistic was -0.67. Deter-

miine the P-value, P.

A 0.25 1B. 0.50 C.0.37 D.0.74 E. none of the above

A restaurant owner wishes to find the 99% confidence interval for the true inean cost of a
dry martini. How large should the qamplg be if she wishes to be accurate within $0.107 A

N
previous study study showed that the standard deviation of the price was $0.12. Ay

A9 B. 10 C. 11 D. 8 E. noue of the above

Use the following information to answer questions 29 to 30. The average price ofa
personnel computer (PC) is $849. The computer prices are normally distributed
with standard deviation $100.

What is the probability that a randomly selected PC costs more than $12007
A. 0.002 B. 0.994 C. 0.006 D. 0.047 E. none of the above

The cheapest 10% of PC cost less than what amount?

A. 8705 B. 820.8 C.910.3 . D.889.6 E. none of the above




